REpKE 2 —ERAHER 6

— (BfI:M)
B 35S e ;
gy |& BF305[ 13F% | 18F |BR305] 13K |BR0% BAzA e
P oo | 17es | 2oms | 17ms | 2om | 22m: >
i) 300AET 7
i| 5465 | 7.546 | 9546 |10910 | 16,364 | 20455 |Gazono 1
HR—JL —_lo| v
*R #F 300 é
%1 6000 | 8300 [10500 |12001 | 18000 [22500 | x| |3
pAS RITAR—F oy
5T _ft
| 1546 | 1,819 | 2455 | 3091 | 3546 | 4910 | sex oo
BHE=1 o| 52
*ﬁ #%F 36 39*
B1 1700 | 2000 | 2700 | 3400 | 3900 | 5401 | & 1z | | =7
A AT ARR—F o
H
B
Bl 1273 | 1546 | 2001 | 2546 | 3,182 | 4091 | 244 JE
w| T : : : : : <
b=} BF 30 }Eﬁﬁs
B1 1400 | 1,700 | 2,300 | 2,800 | 3500 | 4500 | & o | |5
A R A RR—R =
I,‘f; 546 | 819 | 1182 | 1455 | 1728 | 2273 | 24 =
LW | ¢
Bt nE 24 -
%1 600 | 900 | 15300 | 1,600 | 1900 | 2500 | ¥ & A
pIAY RITAR—F
I,‘f; 728 | 1,091 | 1455 | 1819 | 2182 | 2910 | 244
REE2 x
*R BF 24
%1 800 | 1,200 | 1600 | 2000 | 2400 | 3201 | % &
pUAY RITAR—F
I,‘f; 3455 | 4819 | 6,182 | 6,819 | 9546 |12273 | 304 +
M= 9 §
% #F 20 o
%1 3800 | 5300 | 6800 | 7,500 |10500 |13500 | & 1o 2
= R A RR—F
| 1819 | 2273 | 3182 | 3637 | 4546 | 6364 |Hma 5| | %
BEE 7%];5{;82 X i
o L R
B 12000 | 2500 | 3500 | 4000 | 5000 | 7,000 |2 s #
pAY HEF 20
- -
i; 1819 | 2728 | 3637 | 4091 | 5455 | 7,273 | s0x »
F—ARYTH— (@) /l?
fi 2000 | 3000 | 4000 | 4500 | 6,000 | 8000 | som i

miEE
OFERHIEBARBICHAL TS,
QABEEFERT HEE(E. HRAKOSEZRHIRLET,
QHAIFXFADHARIOBNETHADHMBMNSHIE (178) FTELET,
@WEZRIRUTHER 221 RELTHRAT 58 EE2FEAHDOAHELET S,
GOALRIIRARETEEE Ao
@LREBAAEREIEFETOEETT, AIRARRICEKYZI O EOEEREICENELIIEAHYET,




